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+ 1200 1200 — o.ooé o.oooé 0.00 o.ooé o.oooé 0.00
NO.7 800 —— 000 0000 000 000 0000 000
+ 470 470 — o.ooé o.ooo? 0.00 o.ooé o.ooo? 0.00
+ 470 000 -— o.oog o.oooé 0.00 o.oog o.oooé 0.00
+ 17.50] 12.80] -—— 0.00; 0000  0.00] 0.00: 0000 _ 0.00
NO8 250 —— o.ooé o.oooé 0.00 o.ooé o.oooé 0.00
+ 1330] 1330 -— 000 0000 000 000 0000 000
+ 1330 000 -— o.ooé o.oooi 0.00 o.ooé o.oooi 0.00
NO.9 670 —— 0000 0000, 000 000 0000 000
+ 1000 1000 -— 000 0000 000] 000i 0000i 000
+ 1880 880 — o.oog o.oooé 0.00 o.oog o.oooé 0.00
+ 18.80[  000| -—— 0.00i  0.000i  000|  000{ 0000i  0.00
NO-10 120 — o.oog o.oooi 0.00 o.oog o.oooi 0.00
+ 1500| 1500 -— 000: 00000 000] 000i 00000 000
+ 1500 000 — 000 0000 000] 000i 0000i 000
No-T 500[ —— o.ooé o.oooé 0.00 o.ooé o.oooé 0.00
+ 980 980 -— 0.00:  0.000{  000]  000{ 0000i  0.00
NO-12 1020 ——- o.ooé o.oooé 0.00 o.ooé o.oooé 0.00
NOT3 2000 -—- 000: 00000 000] 000i 00000 000
+ 1800 1800 -— 000 00000 000| 0000 0000i 000
RE~DIL ; :
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NO.13 : : : : ' :
+ 1800 — | — 0.00: 0.00; :
NO.14 : i : i
+ 250 450 — 0.00: 0.000: 000  0.00: 0000 _ 0.00
a & 282.50 -—- 104.01 18.44




